
R1-99921 / 22-05-2023

GARDENSTEP
Assembly instruction

Montageanleitung
Montagevejledning



2

K1-02030 K1-02020 K1-02010

K1-02060 K1-02040 K1-02050

K1-02110

K2-02120 K1-02130K2-04050 K2-14920

  2000mm  40mm  

K1-02100

K3-07010
M10 x 110

K3-08001
Ø12 x 60

K3-04010
Ø10

R3-91075
Ø10 x 60

K3-03010
M10

K3-06269
Ø6 x 35

K3-06006
Ø6,3 x 51

K3-02220
M6 x 20

K3-04016
Ø6,4

K3-03046
M6

K3-06004
Ø4,8 x 30

2 3

4 5 6

7 8

9 10

14

20 21 22 23 24

12 1311

25 26 27 28 29

1

15



3

K1-02030 K1-02020 K1-02010

K1-02060 K1-02040 K1-02050

K1-02110

K2-02120 K1-02130K2-04050 K2-14920

  2000mm  40mm  

K1-02100

K3-07010
M10 x 110

K3-08001
Ø12 x 60

K3-04010
Ø10

R3-91075
Ø10 x 60

K3-03010
M10

K3-06269
Ø6 x 35

K3-06006
Ø6,3 x 51

K3-02220
M6 x 20

K3-04016
Ø6,4

K3-03046
M6

K3-06004
Ø4,8 x 30

2 3

4 5 6

7 8

9 10

14

20 21 22 23 24

12 1311

25 26 27 28 29

1

15

K3-01005
M5 x 12

K3-01004
M4 x 25

K3-03004
M4

K3-05006
M6 x 8

31 32

00 00 00 00 00 00

00 00 00 00 00 00

00 00 00 00 00 00

00 00 00

00 00 00 00 00

00 00 00

00 00 00 00 00 00

00

00 00 00 00 0000

30 33



Ø12mm Ø3,5mm
Ø4mm
Ø8mm

16mm
10mm

PZ

 ~ 50mm 
 ~ 50mm 



4

 Min. 2000mm 

 800mm 

TRIMAX: 40mm
GITTERROST: 30mm

TRIMAX: S – 40mm
GITTEROST: S – 30mm

 200mm 

 H 

 U 

 S 

 S 

T 
st (pcs)

min H 
(mm)

max H 
(mm)

U 
(mm)

2 370 450 400
3 555 675 600
4 740 900 800
5 925 1125 1000
6 1110 1350 1200
7 1295 1575 1400
8 1480 1800 1600
9 1665 2025 1800

10 1850 2250 2000
11 2035 2475 2200
12 2220 2700 2400
13 2405 2925 2600
14 2590 3150 2800

min S 
(mm)

max S
(mm)

185 225

S =
H 
T



5

 Min. 2000mm 

 800mm 

TRIMAX: 40mm
GITTERROST: 30mm

TRIMAX: S – 40mm
GITTEROST: S – 30mm

 200mm 

 H 

 U 

 S 

 S 

TRIMAX: 40mm
GITTEROST: 30mm

x 6

1

6 x  12mm 
 70mm

20

21

22

6 x  6mm 
 70mm

1

1

2



6

2

21

23

15

21

23

5

I

II

III

 S 

3



7

2

21

23

15

21

23

5

I

II

III

 S 

3
2 #1

2 #4

3

4



8

5

3

23

23

21

21

15

I

II

III

 S 

TRIMAX: S – 40mm
GARDENSPIN: S – 30mm

5



9

5

3

23

23

21

21

15

I

II

III

 S 

TRIMAX: S – 40mm
GARDENSPIN: S – 30mm

5

x 4II

4I

6

4 x  12mm
 70mm

20

21

22

4 x  6mm
 70mm

5

7



10

6

23

21

15

23

21

TRIMAX: S – 40mm
GARDENSTEP: S – 30mm

8



11

6

23

21

15

23

21

TRIMAX: S – 40mm
GARDENSTEP: S – 30mm

8

9

14



12

 X 

 X 

7

9

 3,5mm 
 30mm

24

5

10



13

 X 

 X 

7

9

 3,5mm 
 30mm

24

5

10

 Y 

 Y 

10

2 x 
 4mm 
 30mm

 4mm 
 30mm

2425

10

11 13

12

9

33

13

18



14

8

27

28

26

14

8

27

28

26

14

2 x  6,5mm

26

28
27

11

9

33

 Y 

 Y 

11

15 17

16



15

8

27

28

26

14

2 x  6,5mm

26

28
27

11

9

33

 Y 

 Y 

11

15 17

16



16

 Z 

 Z 

 120mm 

 120mm 

10

18

19

 Z 

 Z 

 120mm 

 120mm 

10

18

19

 Z 

 Z 

 120mm 

 120mm 

10

18

19

Z

Z
 Z 

 Z 

 120mm 

 120mm 

10

18

19

 Z 

 Z 

 120mm 

 120mm 

10

18

19

R

X

X

 Z 

10

19



17

 Z 

 Z 

 120mm 

 120mm 

10

18

19

 Z 

10

19

29

13

12

20

21



18

22

23

23

A

31

30

32

B

29

14

22

23




